SHAMROCK SHUFFLE

PA-5079 ON SALE NOW

n -
P \\ LOTTERY
l WHEN ANY OF YOUR NUMBERS MATCH ANY WINNING NUMBER, -
WIN PRIZE SHOWN UNDER THE MATCHING NUMBER. e Oy
E CHANCES ARE CONSOLIDATED
A WIN WITH: WIN: 11IN: CHANCES ARE 1 IN:
§ B FREE $1 TICKET 10.00 FREE $1 TICKET = 10.00
$1 §1 7692 $1=76.92
(3l $1x2 $2 25.00
$2 $2 28.57 $2=13.33
P EiL 54 200.00
$2x2 $4 200.00
o ($1x2) +52 $4 250.00
s $4 $4 250.00 $4.=55.56
($2x2) +$1 $5 142.86
T BN $5 153.85
$5 $5 153.85 $5=50.00
P Bt $10 500,00
L (52x4)+($1x2) $10 1,000
(52x 3) +$4 $10 500.00
[ (54x2)+($1x2) $10 500.00
A ($4x2) +$2 $10 500.00
$10 $10 500,00 $10=90.91
s $5x4 $20 5,000
$10x2 $20 5,000
E (S4x4)+(S1x4) $20 5,000
$10 + 85 + 54 +§1 $20 5,000
P BN $20 5,000 $20=1,000
o ($4x3)+(52x4)+9$5 $25 4,000
($5x3) +$10 $25 4,000
Yl (510 x2) +$5 §25 6,000
1 $25 $25 6,000 $25.=1,200
$25x2 $50 12,000
(510 x4) + ($4x ) +($1 x2) $50 8,000
P ($10 x 3) + (S5 x 3) + 54 + $1 $50 8,000
[ (510x2)+ (55 x2)+520 $50 12,000
(520 x2) + (35 x 2) $50 12,000
E B $50 12,000 $50= 1714
A $50x 2 $100 24,000
(520 x3) + (510 x 3) + ($5 x 2) $100 24,000
Yl (525 x 2) + $50 $100 24,000
E $100 $100 24,000 $100 = 6,000
(5100 x 3) + (550 x 3) + (525 x 2) $500 240,000
$500 $500 240,000 $500 = 120,000
P $1,700 $1,700 240,000 $1,700 = 240,000
0
s OVERALL CHANCES
OF WINNING: 1 in 4.17
T Prizes, including top prizes, are subject to

availability at the time of purchase.




